CE-317 STRUCTURAL ANALYSIS |
DEPARTMENT OF CIVIL ENGINEERING
Quiz 1; September 2, 2019, 9-10pm

Problems carry equal weightage

Problem 1 YOU MUST USE ONLY SLOPE DEFLECTION METHOD

Refer Fig. 1. For the frame having an internal hinge at C, and loaded as shown, determine
the rotation at B (i.e., ;) and reactions (i.e., forces and moment) at support D. Use

El =4x10°N.mm? P =50kN, L=10m
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Figure 1

Problem 2 YOU MUST USE ONLY MOMENT DISTRIBUTION METHOD
Refer Fig. 2. Members BC and CD are hinge connected to each other, and the hinge is

supported by a roller at C as shown. For the loading shown, determine all support reactions
(i.e., forces and moments). Use P =50kN, L=10m

\l/P hinge
B C

3 L/o 4
| sofai |
members
A D
777777 L AL

Figure 2



3 (LS EN &

(fg Hi)P Lf’ AL Z?S’kt\/f

/




P2 Np Suay szm %M‘(M}.&,
- Al BA e Al o an
Rk b 3 IR B i & s
A= e g RS e
Fem |0 o-f =3agga. 0 O O
Mt o |12H wRET, MR . 0 P =
Cndg B1 3339 I3 ~SENCY B O

¢ PEC

MD:O/ \/yb—:O/
; CX:\/A—; %'036 N o

M - lb:(a,tzve,

[ = 69 kNMD\\\

MA: 2t }q
Vo= Mag+1Ma = g.3f RN =

L

' .35%F
ZM20 * NA-—f(MAp,+PL+vL) = 303571

& P N U 643N T
L=




